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	2018/November Braindump2go 200-155 Exam Dumps with PDF and VCE New Updated Today! Following are some new 200-155

Real Exam Questions: 1.|2018 Latest 200-155 Exam Dumps (PDF & VCE) 193Q&As

Download:https://www.braindump2go.com/200-155.html2.|2018 Latest 200-155 Exam Questions & Answers

Download:https://drive.google.com/drive/folders/0B75b5xYLjSSNSGNZNWlETXdSNHM?usp=sharingQUESTION 123Which

description of switch discovery on a Cisco APIC is true?A.    The APIC assigns an IP address to the switch from a pool.B.    Only

leaf switches are discovered automatically.C.    A switch can be registered to multiple APIC clusters.D.    A switch registers with the

APIC automatically.Answer: BQUESTION 124To uniquely define server instances in the Cisco UCS system, what do you

configure?A.    service profileB.    vMotionC.    UUID resource poolD.    vNIC templateAnswer: AQUESTION 125What are three

components of the Cisco ACI fabric? (Choose three.)A.    core switchB.    access switchC.    Cisco DCNMD.    leaf switchE.    spine

switchF.    Cisco APICAnswer: DEFQUESTION 126Which description of OTV is true?A.    It extends Layer 2 domains by

tunneling traffic over an IP network.B.    It encapsulates the entire Ethernet frame in a new Ethernet encapsulation.C.    It extends

Layer 3 domains across geographically disparate data centers.D.    It encapsulates Layer 2 frames in the IP header by using stateful

tunnels.Answer: AQUESTION 127A network engineer configures FEX0101 on a Cisco Nexus 5596UP switch. Based on the output

below, which interface is valid on the FEX?switch# show fex 101FEX: 101 Description: FEX0101 state: OnlineFEX version:

7.2(1)N1(1) [Switch version: 7.2(1)N1(1)]Extender Model: N2K-C2248 TP-1GE, Extender Serial: JAF 123456789Part No:

73-12748-01pinning-mode: static Max-links: 1Fabric port for control traffic: Eth1/47Fabric interface state:Po147 - Interface Up.

State: ActiveEth 1/47 - Interface Up. State: ActiveEth1/48 - Interface Up. State: ActiveA.    Ethernet 1/46B.    FC 101/1/2C.   

Ethernet 1/48D.    Ethernet 101/1/1Answer: CQUESTION 128Which definition of the REST API for a Cisco APIC is true?A.    It

includes classes and methods as programmatic entities.B.    It contains the management information tree.C.    It accepts and returns

HTTPS messages that contain JSON or XML documents.D.    It stores the configuration information and the state information of the

APIC.Answer: AQUESTION 129 What are two functions of a Cisco UCS Fabric Interconnect in a Cisco UCS domain? (Choose

two.)A.    managementB.    comprehensive network analysisC.    network connectivityD.    traffic load balancingE.    core fibre

channel switching platformAnswer: ACQUESTION 130Refer to the exhibit. A four-link chassis discovery policy is configured in

Cisco UCS Manager. Which component s are discovered when the chassis components connect to the fabric interconnects? A.   

UCS Chassis B and UCS Chassis CB.    UCS Chassis CC.    UCS Chassis BD.    UCS Chassis A, UCS Chassis B, and UCS Chassis

CAnswer: BQUESTION 131Which description of the function of a server port on a Cisco UCS Fabric Interconnect is true?A.    It

handles FCoE traffic between the fabric interconnect and the next layer of the SAN.B.    It handles Ethernet traffic between the

fabric interconnect and the next layer of the network.C.    It creates a vEthernet port for the VM connection to the fabric.D.    It

handles data traffic between the fabric interconnect and the adapter cards on a server.Answer: DQUESTION 132Which description

of the role of a VEM on a Cisco Nexus 1000V Series Switch is true?A.    It switches the data traffic within the hypervisor.B.    It

configures the interfaces.C.    It controls the software of the DVS.D.    It conveys the control and packet VLAN IDs.Answer: A
QUESTION 133How would you install Cisco Nexus 1000V Series switches for high availability?A.    Install two VSMs in an

active/standby configuration.B.    Only standalone Nexus 1000v Deployments are supported.C.    Install two VSMs in an

active/active configuration.D.    Install a standalone VSM with VMware 1000v High Availability extension plugin.Answer: A

Explanation:Active/standby dual supervisor configuration. The state and configuration remain constantly synchronized
between two Virtual Supervisor Modules (VSMs) to provide a seamless and stateful switchover in the event of a VSM failure.
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